
 
 

 

Fax Option Type M3 (D163) 
G3 Interface Unit Type M3 (D163) 
Fax Connection Unit Type M2 (D165)  
Fax Option Type M4 (D167) 
G3 Interface Unit Type M4 (D167) 
Fax Connection Unit Type M4 (D166) 
 



 
 

Fax Option Type M3 (D163) 
G3 Interface Unit Type M3 (D163) 
Fax Connection Unit Type M2 (D165)  
Fax Option Type M4 (D167) 
G3 Interface Unit Type M4 (D167) 
Fax Connection Unit Type M4 (D166) 

 
 

PARTS CATALOG 
 

This catalog gives the numbers and names of parts on this machine. 
 

 
 

1 Fax Option Type M3 ･････ 2P

2 G3 Interface Unit Type M3 ･････ 4P

3 Fax Connection Unit Type M3 ･････ 6P

4 Fax Option Type M4 ･････ 8P

5 G3 Interface Unit Type M4 ･････ 10P

6 Fax Connection Unit Type M4 ･････ 12P  
 
 
 
 
 
 

 



 

2

 

1. Fax Option Type M3 (D163) 



 

3

Index

No.
Part No. Description

Q’ty Per

Assembly

Index

No.
Part No. Description

Q’ty Per

Assembly

1 B7715050 SPEAKER 101 03530060N BIND SCREW - M3X6

2 D1635951 BRACKET:FAX CONTROL UNIT:AB 102 04543006Q TAPPING SCREW - M3X6

3 AA143590 SCREW - M3X4 103 11050692 CLAMP:LES-0503

4 H5235350 TELEPHONE CABLE 104 04543006N TAPPING SCREW:ROUND POINT:3X66

105 11050780 CLAMP:LWST-1012

106 16072251 FERRITE CORE:K3 NF-75(N)BK0

1. Fax Option Type M3 (D163)

 
 

Ed
Sticky Note
New parts 
PCIL: January 2016



 

4

 

2. G3 Interface Unit Type M3 (D163) 



 

5

Index

No.
Part No. Description

Q’ty Per

Assembly

Index

No.
Part No. Description

Q’ty Per

Assembly

1 D1505634 PCB:CCUIF-A:ASS'Y 101 04543006Q TAPPING SCREW - M3X6

2 D1635241 HARNESS:FCU-CCU:C1AB 102 11050638 CLAMP RFC-33V0

3 D1635961 BRACKET:G3/G4 103 16072251 FERRITE CORE:K3 NF-75(N)BK0

4 D5455172 PCB:SG3-ND:NA:ASS'Y

4 D5455174 PCB:SG3-ND:EA:ASS'Y

5 H5235350 TELEPHONE CABLE

2. G3 Interface Unit Type M3 (D163)

 

Ed
Sticky Note
Item 3
PCIL: May 2014



 

6

 

3. Fax Option Type M4 (D167) 



 

7

Index

No.
Part No. Description

Q’ty Per

Assembly

Index

No.
Part No. Description

Q’ty Per

Assembly

1 B7715050 SPEAKER 101 04543006Q TAPPING SCREW - M3X6

2 D1505630 PCB:FCUIF-D:ASS'Y 102 11050692 CLAMP:LES-0503

3 D1505632 PCB:GWFCU-IF10:ASS'Y 103 11050758 CLAMP:LWSM-0306A

4 D1675250 HARNESS:FCU:LINE 104 11050780 CLAMP:LWST-1012

4 D1675251 HARNESS:FCU:LINE:EU/AP 105 16072251 FERRITE CORE:K3 NF-75(N)BK0

5 D1675252 HARNESS:FCU:TEL

5 D1675253 HARNESS:FCU:TEL:EU/AP 

6 D1675254 HARNESS:SPEAKER:CONNECTING

7 D1675952 BRACKET:FAX CONTROL UNIT

8 D1675953 BRACKET:GWFCUIF

9 D1675956 BRACKET:SPEAKER

10 H5235350 TELEPHONE CABLE

3. Fax Option Type M4 (D167)

 
 

Ed
Sticky Note
New parts
PCIL: January 2016



 

8

 

4. G3 Interface Unit Type M4 (D167) 



 

9

Index

No.
Part No. Description

Q’ty Per

Assembly

Index

No.
Part No. Description

Q’ty Per

Assembly

1 D7185241 HARNESS:FCU-CCU 101 04543006Q TAPPING SCREW - M3X6

2 D1505634 PCB:CCUIF-A:ASS'Y 102 16072251 FERRITE CORE:K3 NF-75(N)BK0

3 D5455170 PCB:SG3-ND:NA:ASS'Y

3 D5455174 PCB:SG3-ND:EA:ASS'Y

4 D1675961 BRACKET:G3/G4

5 H5235350 TELEPHONE CABLE

4. G3 Interface Unit Type M4 (D167)

 

Ed
Sticky Note
No 4
PCIL: July 2014


	1. Fax Option Type M3 (D163)
	2. G3 Interface Unit Type M3 (D163)
	3. Fax Option Type M4 (D167)
	4. G3 Interface Unit Type M4 (D167)

